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~ work = ( 2. sx ) . X

Total work
= §%×dx = ×2µ°= ioooo .

÷
ft p = weight density of water
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Total work = ) pn(4oo-_x2)I
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weight distance
of layer
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Law of gravity #
f = G MMZ work ?

D= Blades-

a#w= f Force .
d×

=

g G mym÷ dx

a

= Gmimz § xtzdx =
Gmmz ( ±a -⇒ :@

.

EI ,Hydnostaticpnessu=
Force applied to surface of a dam by water

( pressure ) .

→ - depth
P= Pressure = p d

dot Is weight
gag density
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length of red segment  =2a+3D=16 - Xt30= 46 - X

.

g- = 1¥ - a = 'z( 16 - × ) = 8¥ .

Force of
the red segment

= P× . ( 46 - × ) sx

Prete ¥a
Total fence 16

F  = ) p ( 46x -
x2 ) dx

o

-

Other applications : Finding Center of mass

&moment
7.7 Diff . equations - we will see later

.
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Reuziew
of 3D geometry .
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( ×"Y2D =
(×rx,)2+(yz-y#

d ( ( Kiya , ) , ( Xziyzizz ) )= ftp.yzy#zf
.


